Kpocra6y/ianuu co 3apaBcTBeHa ycraHoBa (Ips gei) - HoemspH 2016

- Ta€H KJIMEHT -

onpeMaTa 3a ujarao3a * 3paBcTBEHa yCTaHOBa

31paBCcTBEHA yCTaHOBA
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Boomnuiro HcnutaHunu 7
He3aj0BoJIeH | % crmopen 3Y | 1.60%
Honekane HcnutaHunu 65 2 2 4 1
onpemara He3aj10BoJIEH | % criopen 3Y | 15.00% 33.30% 50.00% | 80.00% 20.00%
s IMonekane UcnutaHunu 229 3 1 1 1 2 2 4 3 1 4 1 4 1 6 1 1 3 4 3
J— 3a10BosIeH | % cropen 3Y | 52.80% [ 60.00% | 33.30% | 50.00% | 33.30% | 33.30% [100.00% [ 80.00% [100.00%| 50.00% | 66.70% | 50.00% | 66.70% | 50.00% | 66.70% | 25.00% | 20.00% | 75.00% | 80.00% [100.00%
MtHory WcnuraHunu 100 2 1 1 2 4 1 2 1 1 3 1
3a0BosIEH | % cmopen 3Y | 23.00% [ 40.00% | 33.30% | 50.00% | 66.70% | 66.70% 50.00% | 33.30% | 50.00% 50.00% | 33.30% 25.00%
Hewma HcnutaHunu 33 1 1 1
OIrOBOP % cnopen 3Y 7.60% 33.30% 20.00% 25.00%
Biymmo HcnutaHunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
% cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3a/[0BOJIEH | % crnopen 3Y
Honekane WcnutaHunu 1 2 1 1 2 1
onpemara HE3a/[0BOJIEH | % crnopen 3Y 20.00% 66.70% 14.30% 50.00% | 66.70% | 25.00%
s Honekane WcnutaHunu 1 3 8 4 1 1 3 2 1 1 3
mwjarnoza 3a10BONIEH | % cnopey 3Y 100.00%] 60.00% | 57.10% | 66.70% | 33.30% | 33.30% | 42.90% ]100.00% | 50.00% | 33.30% | 75.00%
MtHory Hcnuranunm 4 1 2 2 2
3a/10BOJIEH % cnopeg 3Y | 100.00% 20.00% | 14.30% | 33.30% 66.70%
Hema WcnutaHunu 4 3
OITOBOP % cnopen 3Y 28.60% 42.90%
Biymmo WcnutaHunu 4 1 5 14 6 3 3 7 2 2 3 4
% cnopes 3Y | 100.00% |100.00% [100.00% [ 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00 %
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Boomnmro Wcnuranunu 3 3 1
He3aJl0BOJIeH | % cnopen 3Y 8.10% 12.00% 6.70%
Honekane Hcnuranuiu 3 2 7 3 7 3 8 1 3 2 5
ompemara  |FC3AR0BONCH % cnopex 3Y | 12.00% | 15.40% 38.90% | 21.40% | 18.90% | 8.60% [ 32.00% | 16.70% | 15.80% 11.10% | 33.30%
3ap Honekane Wcnuranuiu 12 4 8 3 8 18 18 11 4 10 6 7 9
. 3a10BosIeH | % cropen 3Y | 48.00% [ 30.80% [100.00%| 16.70% | 57.10% | 48.60% | 51.40% [ 44.00% | 66.70% | 52.60% | 50.00% | 38.90% | 60.00%
aujarsosa
Meory HcnutaHunu 7 8 3 9 14 2 1 6 4 2
3aj10BosIeH | % cmopen 3Y 53.80% 44.40% | 21.40% | 24.30% | 40.00% [ 8.00% | 16.70% | 31.60% | 33.30% | 11.10%
Hewma HcnutaHunu 10 1 2 7
OIrOBOP % cnopes 3Y | 40.00% 4.00% 16.70% | 38.90%
BKymHO WcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane WcnutaHunu 1 2 1
onpemara He3aJloBOIICH | % cropes 3Y 33.30% 13.30% 33.30%
3ap Honekane WcnutaHunu 1 3 1 2 2 1 2 13 1 2 2 1 2 3 1
IHjarHoa 3a/10BOJIEH % cnopen 3Y 33.30% |100.00% | 100.00% | 66.70% 66.70% | 33.30% |100.00% | 86.70% | 33.30% | 66.70% | 66.70% ]100.00% | 66.70% | 60.00% 100.00%
! MtHory Hcnuranunm 2 1 1 2 2 1 1 2 2
3a/10BOJIEH % cnopen 3Y 66.70% 100.00% | 33.30% | 66.70% 66.70% | 33.30% 33.30% | 40.00% |100.00%
Hema WcnutaHunu 3
OJIFOBOP % cnopen 3Y | 100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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XATHeHATa Bo GONHMIaTa * 3paBcTBEHA yCTaHOBA

31paBcTBEHa yCTaHOBA
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Boonmro Wcnuranunmu 47 1
He3a0BOJIEH | % cropes 3Y | 10.80% 20.00%
onekane Hcnuranunu 143 1 3 2 1 4 2
cirueHara  |RS3AA0BONCH % cnopes 3Y | 32.90% 50.00% 60.00% 50.00% | 20.00% 80.00% | 66.70%
o onekane Hcnuranunu 161 5 1 2 3 1 1 2 2 3 5 8 2 4 1 1 1
J— 3aoBoneH | % crnopen 3Y | 37.10% [100.00% 50.00% | 66.70% | 50.00% [ 50.00% [ 20.00% | 66.70% |100.00% | 50.00% 83.30% 88.90% | 50.00% | 80.00% [ 25.00% | 20.00% | 33.30%
MsHory Wcnuranunu 82 3 1 3 1 1 3 2 1 2 1 3
3a0BoNeH | % crnopen 3Y | 18.90% 100.00% 33.30% | 50.00% | 50.00% 33.30% 50.00% ]100.00% | 16.70% [100.00% | 11.10% 75.00%
Hema UcnuraHunu 1
OATOBOP % cnopen 3Y [ 0.20%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu 1
He3ajl0BoJIeH | % crnopes 3Y 25.00%
Ionekane WcnuraHuiu 3 6 3 4 1 1 3
cirucHara  |L3AA0BONCH % cnopen 3Y [ 75.00% 42.90% | 50.00% 57.10% 50.00% | 33.30% | 75.00%
o onexkane WcnuraHuiu 1 2 7 3 1 3 1 2
Gomuuuara 3aj0BosicH | % cmopen 3Y 100.00% | 40.00% | 50.00% [ 50.00% 33.30% | 42.90% 50.00% | 66.70%
Msuory Wcnuranunu 3 1 3 2 2
3aj0BosicH | % cmopen 3Y 60.00% | 7.10% 100.00% | 66.70% 100.00%
Hema WcnuraHuiu 1
OJrOBOp % cnopes 3Y [ 25.00%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boomnmro Wcnuranuiu 10 3 1 5 6 13 1 6
He3ao0BoJeH | % cropen 3Y | 40.00% | 23.10% 5.60% 13.50% | 17.10% [ 52.00% 5.60% | 40.00%
Honekane Hcnuranuiu 15 6 5 2 6 11 11 3 1 4 11 9
curuenara  |FS3A0BONCH % cnopen 3Y | 60.00% | 46.20% 27.80% | 14.30% | 16.20% | 31.40% | 44.00% | 50.00% | 5.30% | 33.30% | 61.10% | 60.00%
5o Honekane Wcnuranunu 2 5 7 7 12 15 1 3 15 6 4
GonHmaTa 3aj10BosIeH | % cmopen 3Y 15.40% | 62.50% [ 38.90% | 50.00% | 32.40% | 42.90% | 4.00% | 50.00% [ 78.90% | 50.00% | 22.20%
MtHory Wcnuranunu 2 3 5 5 14 3 3 2 2
3aj10BosIeH | % cmopen 3Y 15.40% | 37.50% | 27.80% | 35.70% | 37.80% | 8.60% 15.80% | 16.70% [ 11.10%
Hewma HcnutaHunu
OJIFOBOP % cnopen 3Y
BKymHO WcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane HcnutaHunu 1 1 2 12 1 3 1 1 3
HE3aj10BOJIEH | % criopey 3Y 33.30% |100.00%| 66.70% 80.00% 33.30% |100.00%]100.00% | 33.30% | 60.00%
22”‘6“3” Tonekane | Vicnnranmma 3 1 1 1 2 3 2 3 1 2 2 1
GonHumaTa 3a/10BOJIEH % cnopen 3Y | 100.00% | 33.30% | 33.30% 33.30% 66.70% |100.00% |100.00% | 20.00% | 33.30% | 66.70% 66.70% | 20.00%
MtHory Hcnuranunm 2 1 1 1 2 1 2 1
3a/10BOJIEH % cnopen 3Y 66.70% | 33.30% 100.00%| 33.30% 66.70% 20.00% |100.00% | 100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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MEIHNAHCKATA Hera © 3HpchTBeHa ycTaHOBa

31paBcTBEHa yCTaHOBA

<
. o = Ny, m
o 2a] < = T = =
& = o) wE o) e o) = S
o | S| E | |Ze| S |E5|g| g ||| |E|E|E|E|s|2c¢
momo| S | T | Z | E |25 2 (8| | | E|E |5 |z |E|5|¢E|&g|Ecz
) = g = ) S = = 3
) = o = 25 S =¥e & ) < & d =) = o < ) > 3)
< m = = (¥ /M Y = & [-» =
= = = g o | B | 25| = - < - X - = E = o A =
% 0 = = S o ™ & % = %) © o O
o = = = M o >
) 0 M = « %
<]
Boonmro Wcnuranuu 12
HE3a70BOJIEH | % criopen 3Y | 2.80%
onekane Hcnuranunu 64 1 4 1 3
He3ajl0BOJICH | % cnopen 3Y | 14.70% 20.00% 100.00% | 20.00% 60.00%
MenuuuHcKa| [lonekane Hcnuranunu 213 2 3 2 4 1 4 3 2 4 1 1 4 3 1 2 3
Ta Hera 3amoBosieH | % crnopen 3Y | 49.10% [ 40.00% |100.00%)100.00% 66.70% | 50.00% | 80.00% [100.00% [100.00% | 66.70% 16.70% [ 50.00% | 44.40% 60.00% | 25.00% | 40.00% [100.00%
MsHory Wcnuranunu 133 3 3 2 1 2 2 5 1 5 1 3
3a0BoneH | % crnopen 3Y | 30.60% | 60.00% 100.00%] 33.30% | 50.00% 33.30% |100.00% | 83.30% [ 50.00% | 55.60% 20.00% | 75.00%
Hema UcnuraHunu 12
OATOBOP % cnopen 3Y | 2.80%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
Ionekane WcnuraHuiu 1 1 1
HE3aJl0BOJIEH (% crnopea 3Y 14.30% 33.30% | 25.00%
MequuuHCKa|[loHeKaze Wcnuranunu 2 1 2 6 6 2 5 1 2 1 3
Ta Hera 3aoBosieH | % cmopen 3Y | 50.00% [100.00%| 40.00% | 42.90% |100.00% 66.70% | 71.40% | 50.00% [100.00% | 33.30% | 75.00%
Msuory Wcnuranunu 1 3 4 3 1 1 1 1
3aji0BosieH | % cmopen 3Y | 25.00% 60.00% | 28.60% 100.00% | 33.30% | 14.30% [ 50.00% 33.30%
Hema WcnuraHuiu 1 4
OJIrOBOp % cropes 3Y | 25.00% 28.60%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boomnmro Wcnuranunu 1 1 8 2
He3aoBoeH | % cnopen 3Y | 4.00% [ 7.70% 32.00% 13.30%
Honekane Hcnuranuiu 9 5 7 2 1 2 10 1 2 10
He3aoBoJeH | % cropen 3Y | 36.00% [ 38.50% 38.90% | 14.30% | 2.70% | 5.70% [ 40.00% 5.30% 11.10% | 66.70%
MenuuuHcKa| [lonekaye Wcnuranunu 10 3 8 5 12 15 14 5 4 11 6 11 3
Ta Hera 3a10BosIeH | % cmopen 3Y | 40.00% [ 23.10% [100.00%| 27.80% | 85.70% | 40.50% | 40.00% [ 20.00% | 66.70% | 57.90% | 50.00% | 61.10% | 20.00%
MtHory Wcnuranunu 4 6 21 19 2 2 7 5 4
3aj10BosIeH | % cmopen 3Y 30.80% 33.30% 56.80% | 54.30% | 8.00% | 33.30% [ 36.80% | 41.70% | 22.20%
Hewma HcnutaHunu 5 1 1
OIrOBOP % cnopez 3Y | 20.00% 8.30% | 5.60%
BKyIHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane HcnutaHunu 1 1 1
He3aJloBOIICH | % cropes 3Y 33.30% 33.30% 33.30%

MenuiuHcKa| [lonekae Ucnuranunu 3 1 1 2 1 2 15 1 2 1 2 3 1
Ta Hera 3a10BoNIEH | % crnopey 3Y | 100.00% 33.30% |100.00%] 66.70% 33.30% | 66.70% 100.00% 33.30% | 66.70% |100.00% | 66.70% | 60.00% 100.00%
MtHory Hcnuranunm 3 1 1 2 1 2 3 2 1 2 2

3a10BONIEH | % cropey 3Y 100.00% | 33.30% 100.00%| 66.70% | 33.30% [100.00% 100.00%| 66.70% 33.30% | 40.00% [100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopes 3Y | 100.00% |100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00 %
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Jby6e3HOCTa Ha JeKapATe * 3paBcTBeHA YCTaHOBA

31paBcTBEHa yCTaHOBA
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Boomnmro Hcnuranunum 4
HE3a70BOJIEH | % cropen 3Y | 0.90%
onekane Hcnuranunu 54 1 2 2 2 2
;"ayﬁe“"m nesanosonen | % cropea 3y | 12.40% 33.30% 40.00% 50.00% | 40.00% 40.00%
Hounekane Wcnuranunu 179 2 1 2 5 3 2 1 1 2 2 2 2
Jexapure 3aoBosieH | % crnopen 3Y | 41.20% [ 40.00% | 33.30% 66.70% | 83.30% 60.00% | 66.70% 16.70% 11.10% [ 50.00% | 40.00% 40.00% | 66.70%
MsHory Wcnuranunu 197 3 1 2 1 1 2 1 2 5 2 6 2 8 1 4 1 1
3amoBosieH | % crnopen 3Y | 45.40% [ 60.00% | 33.30% |100.00% | 33.30% | 16.70% [100.00% 33.30% |100.00% | 83.30% |100.00% [100.00% [100.00% | 88.90% 20.00% ]100.00% | 20.00% | 33.30%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 %
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Boomnmro HcnuraHunu 1
He3aloBoleH | % cropes 3Y | 25.00%
5 Ionekane Wcnuranunu 2 1 1
;bay c3HOCTA He3ajl0BoJIeH | % crnopes 3Y 28.60% 33.30% | 25.00%
Ionekane WcnuraHuiu 2 1 8 1 3 1 1 3
JeKapuTe
3ajioBosieH | % cmopen 3Y | 50.00% 20.00% | 57.10% 33.30% | 42.90% 50.00% | 33.30% | 75.00%
P
Msuory Wcnuranunu 1 1 4 6 6 3 2 2 2 1 1
3ajoBosieH | % cmopen 3Y | 25.00% [100.00%| 80.00% | 42.90% |100.00% |100.00% | 66.70% [ 28.60% |100.00%| 50.00% | 33.30%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
P
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Boonmiro UcnutaHunu 3
HE3aJI0BONEH | % cniopen 3Y 12.00%
myGestocta Iounekane Hcnuranuiu 9 4 7 3 13 3
Hg He3aoBoJeH | % crnopen 3Y | 36.00% [ 30.80% 38.90% 8.60% | 52.00% 16.70%
eapTe Honekane Wcnuranuiu 16 6 4 7 10 14 15 5 4 3 6 7 9
3ayi0BoNeH | % cropeg 3Y | 64.00% | 46.20% | 50.00% | 38.90% | 71.40% | 37.80% | 42.90% | 20.00% | 66.70% | 15.80% | 50.00% | 38.90% | 60.00%
MtHory HcnuraHunu 3 4 4 4 23 17 4 2 16 6 8 6
3aj10BoNIeH | % cnopep 3Y 23.10% | 50.00% | 22.20% | 28.60% [ 62.20% | 48.60% | 16.00% | 33.30% | 84.20% | 50.00% [ 44.40% | 40.00%
BKymHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % [ 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
myGesHocta Monekane HcnutaHunu 1 1
o HesafoBoneH | % cropea 3Y | 33.30% 100.00%
eKapuTe Monekane HcnutaHunu 2 2 2 1 13 1 3 1 3
P 3a10BOJIEH | % cropen 3Y | 66.70% 66.70% 66.70% 33.30% 86.70% 33.30% |100.00% 33.30% | 60.00%
MtHory Hcnuranunm 3 1 1 1 2 3 2 2 3 2 1 2 2 2 1
3a/{0BOJIEH % cnopen 3Y 100.00%] 33.30% 33.30% |100.00% | 66.70% |100.00% | 100.00% | 13.30% | 100.00% | 66.70% 100.00% | 66.70% | 40.00% | 100.00% | 100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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Jby6e3HOCTa Ha HEPCOHANOT * 3jpaBCTBEHA yCTAHOBA

31paBcTBEHa yCTaHOBA
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Boonmro Wcnuranuu 6
HE3aJ0BOJIEH | % cropen 3Y | 1.40%
onekane Hcnuranunu 62 2 1 2 2
myGestocra H3AA0BONCH % cnopes 3Y | 14.30% 66.70% 20.00% 50.00% 40.00%
H: onekane Hcnuranunu 191 1 1 2 2 1 4 2 1 4 2 2 2 5 2 3 1 2 2
S — 3a0BoneH | % crnopen 3Y | 44.00% | 20.00% 50.00% | 66.70% | 33.30% [ 50.00% [ 80.00% | 66.70% | 50.00% | 66.70% |100.00% | 33.30% [100.00% | 55.60% | 50.00% | 60.00% | 25.00% | 40.00% [ 66.70%
MsHory Wcnuranunu 174 4 1 1 1 4 1 1 1 2 4 4 1 3 1 1
3amoBosieH | % crnopen 3Y | 40.10% [ 80.00% | 33.30% | 50.00% | 33.30% | 66.70% [ 50.00% 33.30% | 50.00% | 33.30% 66.70% 44.40% 20.00% | 75.00% | 20.00% | 33.30%
Hewma UcnuraHunu 1 1
OJIrOBOP % cropen 3Y | 0.20% 20.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu 1
He3anoBoleH | % cropes 3Y | 25.00%
Ionekane WcnuraHuiu 1 2 1 1
myGesHOCTa He3aloBolIeH | % cnopej 3Y 7.10% 28.60% 33.30% | 25.00%
H;’ Ionekane WcnuraHuiu 2 2 9 2 3 1 3
NlepcoHanoT 3a7i0BoJIeH (% cnopen 3Y | 50.00% 40.00% | 64.30% 66.70% | 42.90% 50.00% 75.00%
Msuory Wcnuranunu 1 1 3 4 6 3 1 2 2 1 2
3aoBosieH | % cmopen 3Y | 25.00% [100.00%| 60.00% | 28.60% |100.00% |100.00% | 33.30% [ 28.60% [100.00%| 50.00% | 66.70%
Hema Wcnuranunu
OATOBOP % cnopes 3Y
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boonmiro Wcnutanunu 1 4
He3aJl0BOJIeH | % cnopen 3Y 2.90% | 16.00%
Honekane Hcnuranuiu 9 7 5 1 7 12 5 1
yGesnocTa E3AA0BONCH % cnopen 3Y | 36.00% | 53.80% 27.80% 2.70% | 20.00% [ 48.00% 27.80% | 6.70%
Hay Honekane Wcnuranuiu 16 3 2 9 10 12 20 5 4 3 8 8 9
HepcoRanoT 3a10BosIeH | % cmopen 3Y | 64.00% [ 23.10% | 25.00% | 50.00% | 71.40% | 32.40% | 57.10% [ 20.00% | 66.70% | 15.80% | 66.70% | 44.40% | 60.00%
MtHory Wcnuranunu 3 6 4 4 24 7 4 2 16 4 5 5
3aj10BosIeH | % cmopen 3Y 23.10% | 75.00% | 22.20% | 28.60% [ 64.90% | 20.00% | 16.00% | 33.30% | 84.20% | 33.30% [ 27.80% | 33.30%
Hewma HcnutaHunu
OJIFOBOP % cnopen 3Y
BKymHO WcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane HcnutaHunu 2 1
myGesHoCTa He3aJ[0BOJIEH | % cnopen 3Y | 66.70% 100.00%
H;] Honekane WcnutaHunu 1 1 2 3 7 3 1 3
HepcoHaoT 3a/10BOJIEH % crnopen 3Y | 33.30% | 33.30% | 66.70% 100.00% 46.70% 100.00% 33.30% | 60.00%
MtHory Hcnuranunm 2 1 1 3 3 2 8 3 3 1 2 2 2 1
3a/{0BOJIEH % cnopen 3Y 66.70% | 33.30% 100.00% | 100.00% | 100.00% | 100.00% | 53.30% | 100.00% | 100.00% 100.00% | 66.70% | 40.00% | 100.00% | 100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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CTPYYHOCTA Ha JIeKapuTe * 3paBCTBEeHA yCTAHOBA

31paBcTBEHa yCTaHOBA
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Honekane Wcnuranunmu 33 2 1
He3aJJ0BOJIEH | % cnopen 3Y | 7.60% 40.00% 20.00%
- Ionexane Hcnuranunu 170 3 1 1 1 4 2 3 1 4 2 1 2 1 1 3 3
Hapy 3amoBosieH | % crnopen 3Y | 39.20% [ 60.00% | 33.30% | 50.00% | 33.30% | 66.70% 40.00% 1100.00% | 50.00% | 66.70% [100.00% 50.00% | 22.20% 20.00% | 25.00% | 60.00% [100.00%
TeRapurTe Mhaory Hcnuranunu 204 2 2 1 2 2 2 1 2 6 1 7 3 3 1
3amoBosieH | % crnopen 3Y | 47.00% [ 40.00% | 66.70% | 50.00% | 66.70% | 33.30% [100.00% 50.00% | 33.30% 100.00% [ 50.00% | 77.80% 60.00% | 75.00% | 20.00%
Hewma Wcnuranunu 27 1 4 1
OJIrOBOP % crnopen 3y | 6.20% 20.00% 100.00% | 20.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 %
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Ionekane Wcnuranunu 1 1 1
HE3a[0BOJIEH | % criopes 3Y 14.30% 33.30% | 25.00%
-, Ionekane Wcnuranunu 1 1 7 2 2 4 2 3
Hapy 3ajioBosieH | % cmopen 3Y | 25.00% 20.00% | 50.00% 66.70% | 66.70% | 57.10% 100.00% 75.00%
TeRapTe Msuory Wcnuranunu 3 1 4 6 6 1 1 2 2
3aoBosieH | % cmopen 3Y | 75.00% [100.00%| 80.00% | 42.90% |100.00% | 33.30% | 33.30% 100.00% 66.70%
Hewma UcnuraHunu 1 2
OJIrOBOP % cnopes 3Y 7.10% 28.60%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Iounekane Wcnuranuiu 7 2 6 1 8 2 1
He3ai0BoJIeH | % cropen 3Y | 28.00% [ 15.40% 33.30% | 7.10% 32.00% 11.10% | 6.70%
CTDYyHOCTA Iounekane Wcnuranunu 13 4 7 4 10 9 5 10 4 8 2 9 6
Py 3afi0BoNeH | % cropeg 3Y | 52.00% | 30.80% | 87.50% | 22.20% | 71.40% | 24.30% | 14.30% | 40.00% | 66.70% | 42.10% | 16.70% | 50.00% | 40.00%
Ha
nexapure MtHory HcnuraHunu 7 1 8 3 27 30 4 2 11 9 2 8
3aj10B0NIeH | % cnopeg 3Y 53.80% | 12.50% | 44.40% | 21.40% | 73.00% | 85.70% | 16.00% | 33.30% | 57.90% | 75.00% | 11.10% | 53.30%
Hewma Wcnuranuiu 5 1 3 1 5
OJIrOBOp % cnopes 3Y [ 20.00% 2.70% 12.00% 8.30% | 27.80%
BKymHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopeg 3Y | 100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00%
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Monekane Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
P Monekane HcnutaHunu 2 1 1 11 3 2 3 1
Hapy 3a10BOJIEH | % cropen 3Y 66.70% |100.00% | 33.30% 73.30% 100.00% 66.70% | 60.00% 100.00%
sekapHTe MtHory Hcnuranunu 3 1 2 1 3 3 2 4 3 3 1 1 2 2
3ayj0BoNeH | % cnopeg 3Y 100.00% | 33.30% 66.70% |100.00% [100.00% |100.00% ] 100.00% | 26.70% [100.00% | 100.00% 100.00% | 33.30% | 40.00% |100.00%
Hema WcnutaHunu 3
OJIFOBOP % cnopen 3Y | 100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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31paBcTBEHa yCTaHOBA
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Boonmro Wcnuranuu 2
He3a70BOJIEH | % cropen 3Y | 0.50%
onekane Hcnuranunu 41 1 2 3 3
HE3ajI0BOJICH | % cropey 3Y 9.40% 33.30% 40.00% 60.00% 60.00%
CTpy4HOCTa
a Hounekane Wcnuranunu 205 3 1 1 1 3 3 3 2 2 2 1 2 4 1 2 2 3
S — 3amoBosieH | % crnopen 3Y | 47.20% [ 60.00% | 33.30% | 50.00% | 33.30% | 50.00% 60.00% 100.00%]100.00% | 33.30% [100.00% | 16.70% 22.20% 100.00% | 20.00% [ 50.00% | 40.00% |100.00%
MsHory Wcnuranunu 170 2 1 1 2 3 2 4 5 2 7 2
3amoBosieH | % crnopen 3Y | 39.20% [ 40.00% | 33.30% | 50.00% | 66.70% | 50.00% [100.00% 66.70% 83.30% |100.00% | 77.80% 50.00%
Hema UcnuraHunu 16 1
OJIrOBOP % crnopen 3y | 3.70% 20.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
TMouekane UcnuraHunu 1
erpyaHocTa HC3AA0BONCH % cnopes 3Y 33.30%
Hapy onexkane WcnuraHuiu 2 1 8 2 2 1 5 2 4
NlepcoHanoT 3a7i0BoJIeH (% cnopen 3Y | 50.00% 20.00% | 57.10% | 33.30% | 66.70% | 33.30% [ 71.40% 100.00% 100.00%
Msuory Wcnuranunu 2 1 4 5 4 1 2 2 2
3aoBosieH | % cmopen 3Y | 50.00% [100.00%| 80.00% | 35.70% | 66.70% | 33.30% | 66.70% 100.00% 66.70%
Hewma UcnuraHunu 1 2
OJrOBOp % cnopes 3Y 7.10% 28.60%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
KpocTabynaumm

,TAEH NaumeHT” - NpB aen



< ] = [}
Z 9 £ 5 Z 2 = g g Z9 g5 EE g2 ZE g = Z I Z S
e | E5| 5| EE| 8| E5| GE| ES| 55| EE| 22| EZ | 58
A = Ao | @¥ [ &5 | & BB | aF | & e ag | @ B | B
Boonmiro UcnutaHunu 2
HE3aJI0BONEH | % cniopen 3Y 8.00%
Iounekane Hcnuranuiu 7 1 7 2 11 2 1
crpyuocta He3aio0BoeH | % crmopen 3Y | 28.00% [ 7.70% 38.90% 5.70% | 44.00% 11.10% | 6.70%
Honekane Wcnuranuiu 14 7 6 3 11 12 16 8 5 7 4 9 10
E:pconanm 3a10BosIeH | % cmopen 3Y | 56.00% [ 53.80% | 75.00% | 16.70% | 78.60% | 32.40% | 45.70% [ 32.00% | 83.30% | 36.80% | 33.30% | 50.00% | 66.70%
MtHory Wcnuranunu 5 2 8 3 24 17 3 1 12 7 2 4
3ay10B0NeH | % cnopep 3Y 38.50% | 25.00% | 44.40% | 21.40% [ 64.90% | 48.60% | 12.00% | 16.70% | 63.20% | 58.30% [ 11.10% | 26.70%
Hewma WcnutaHunu 4 1 1 1 5
OJIrOBOP % cnopes 3Y | 16.00% 2.70% 4.00% 8.30% | 27.80%
BKymHO WcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane Wcnuranunu
-, He3aJ[0BOJIEH | % cnopen 3Y
Hapy Tonekane | Vicnnranmma 3 1 2 1 2 1 12 3 2 3
TepeonanoT 3a/10BOJIEH % cnopez 3Y | 100.00% | 33.30% | 66.70% |100.00% | 66.70% 33.30% 80.00% 100.00% 66.70% | 60.00%
MtHory Hcnuranunm 2 1 1 1 3 2 2 3 3 3 1 1 2 2 1
3a/{0BOJIEH % cnopen 3Y 66.70% | 33.30% 33.30% |100.00% | 100.00% | 66.70% |100.00% | 20.00% |100.00% |100.00% 100.00% | 33.30% | 40.00% | 100.00% | 100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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JOCTAITHOCTA Ha JIEKapUTe & 3]1pancmena ycTaHOBa

31paBcTBEHa yCTaHOBA
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Boomro Hcnuranunu 11 1
HE3a/I0BOJIEH (% cnopes 3Y | 2.50% 20.00%
Hounekane Wcnuranunu 74 1 3 1 3 2 3
He3aJJ0BOJIEH | % cnopes 3Y [ 17.10% 33.30% 60.00% 50.00% 75.00% | 40.00% 60.00%
noSAmOS! Monexane |Mcnuranmuma | 191 3 1 1 3 1 1 3 3 1 4 3 1 2 2 2 2
JexapiTe 3a0BoneH | % crnopen 3Y | 44.00% | 60.00% | 33.30% 33.30% | 50.00% | 50.00% | 20.00% [100.00% 50.00% | 50.00% | 66.70% 33.30% | 25.00% | 40.00% [ 50.00% | 40.00% | 66.70%
MsHory Hcnuranunu 155 2 1 2 2 3 1 2 3 2 2 6 1 2 1
3amoBosieH | % crnopen 3Y | 35.70% [ 40.00% | 33.30% |100.00%| 66.70% | 50.00% [ 50.00% 100.00% | 50.00% 33.30% |100.00% | 66.70% 20.00% | 50.00% 33.30%
Hema Hcnuranunu 3
OATOBOP % cnopen 3Y [ 0.70%
Biymo Hcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
% cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu 1
HE3a10BOJICH | % cropes 3Y | 25.00%
Touekane UcnuraHunu 3 3 2
HE3a/J0BOJIEH | % cnopes 3Y [ 75.00% 42.90% 50.00%
E(LC:MHOCT onexkane WcnuraHuiu 2 10 5 1 1 3 2
TekaprTe 3aj0BosicH | % cmopen 3Y 40.00% | 71.40% | 83.30% | 33.30% | 33.30% [ 42.90% 50.00%
Msuory Wcnuranunu 1 3 4 1 2 2 1 2 2 3
3a/10BONIEH | % cnopey 3Y 100.00% | 60.00% | 28.60% | 16.70% [ 66.70% | 66.70% | 14.30% |100.00% |100.00% [100.00%
Hema Wcnuranunu
OATOBOP % cnopes 3Y
Bryniio WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
% cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boomro UcnutaHunu 9
HE3aJI0BONEH | % cniopen 3Y 36.00%
Iounekane Hcnuranuiu 7 2 10 2 9 14 1 1 4 1
ocramoct [FE3AR0BONCH % cnopen 3Y | 28.00% | 15.40% 55.60% 5.40% | 25.70% [ 56.00% | 16.70% 8.30% [ 22.20% | 6.70%
g a Iounekane Wcnuranunu 18 7 3 3 10 12 17 2 4 7 7 10 7
nexapuTe 3a10BosIeH | % cmopen 3Y | 72.00% | 53.80% | 37.50% | 16.70% | 71.40% | 32.40% | 48.60% [ 8.00% | 66.70% | 36.80% | 58.30% | 55.60% | 46.70%
MtHory Wcnuranunu 3 5 5 4 23 9 1 12 4 4 7
3ay10B0NeH | % cnopep 3Y 23.10% | 62.50% | 27.80% | 28.60% | 62.20% | 25.70% 16.70% [ 63.20% | 33.30% | 22.20% | 46.70%
Hewma WcnutaHunu 1
OArOBOP % cnopen 3Y 7.70%
BKymHO WcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane HcnutaHunu 1 1
OCTANHOCT He3afioBolieH | % cropes 3Y | 33.30% 33.30%
EHa Tlonekane  |Mcnuranmm 2 1 1 1 1 10 1 1 2 3 4
nexapuTe 3a/10BOJIEH % cnopen 3Y 66.70% |100.00% | 33.30% 33.30% | 33.30% 66.70% | 33.30% | 33.30% | 66.70% 100.00% | 80.00%
MtHory Hcnuranunm 3 1 2 1 2 2 2 5 2 2 1 1 2 1
3a/{0BOJIEH % cnopen 3Y 100.00%] 33.30% 66.70% ]100.00% | 66.70% | 66.70% |100.00% | 33.30% | 66.70% | 66.70% 100.00% 20.00% |100.00% | 100.00%
Hewma Wcnuranunu 2
OJIrOBOP % crnopen 3Y | 66.70%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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JOCTAITHOCTA Ha NEPCOHAJIOT o SHPaBCTBeHa YyCTaHOBa

31paBcTBEHa yCTaHOBA
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Boonmro Wcnuranuu 10
HE3a0BOJIEH | % cropen 3Y | 2.30%
onekane Hcnuranunu 60 2 2 1 3 1 1
JOCTAMHOCT < < < < < Py < <
a Ha He3aJJ0BOJIEH | % cnopes 3Y [ 13.80% 66.70% 40.00% | 33.30% 75.00% | 20.00% 20.00%
HepeoRanoT Hounekane Wcnuranunu 199 2 1 1 3 3 2 1 3 2 4 4 1 4 1 3 3
3a0BoNeH | % crnopen 3Y | 45.90% | 40.00% | 33.30% 33.30% | 50.00% 60.00% | 66.70% | 50.00% | 50.00% [100.00% | 66.70% 44.40% | 25.00% | 80.00% | 25.00% | 60.00% [100.00%
MsHory Hcnuranunu 165 3 2 2 3 2 1 3 2 2 5 3 1
3a0BoneH | % crnopen 3Y | 38.00% | 60.00% 100.00% | 66.70% | 50.00% [100.00% 50.00% | 50.00% 33.30% |100.00% | 55.60% 75.00% | 20.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 %
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Boomnmro HcnuraHunu 1
He3aloBoleH | % cropes 3Y | 25.00%
oCTANHOCT Ionekane Wcnuranunu 2 2 1
gna He3anoBoleH | % crnopes 3Y | 50.00% 28.60% 25.00%
HepeoHanoT Ionekane WcnuraHuiu 1 2 8 5 1 2 4 1 3
3aji0BosieH | % cmopen 3Y | 25.00% 40.00% | 57.10% | 83.30% | 33.30% | 66.70% [ 57.10% 50.00% 75.00%
Msuory Wcnuranunu 1 3 6 1 2 1 1 2 1 3
3a10BONIEH | % cnopey 3Y 100.00% | 60.00% | 42.90% | 16.70% [ 66.70% | 33.30% | 14.30% |100.00% | 50.00% [100.00%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boonmiro Wcnutanunu 1 8
He3aJl0BOJIeH | % cnopen 3Y 2.70% 32.00%
OCTANHOCT Iounekane Hcnuranuiu 9 3 8 1 4 10 1 2 3
zHa He3al0BoIIeH | % cropes 3Y | 36.00% | 23.10% 44.40% 2.70% | 11.40% [ 40.00% | 16.70% 11.10% | 20.00%
epeomanoT Iounekane Wcnuranuiu 16 7 4 5 9 9 21 6 3 7 6 11 7
3a10BosIeH | % cmopen 3Y | 64.00% | 53.80% | 50.00% | 27.80% | 64.30% | 24.30% | 60.00% [ 24.00% | 50.00% | 36.80% | 50.00% | 61.10% | 46.70%
MtHory Wcnuranunu 3 4 5 5 26 10 1 2 12 6 5 5
3aj10BoNIeH | % cnopep 3Y 23.10% | 50.00% | 27.80% | 35.70% [ 70.30% | 28.60% | 4.00% | 33.30% | 63.20% | 50.00% [ 27.80% | 33.30%
BKymHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % [ 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
OCTANHOCT Monekane HcnutaHunu 2 2
o nesazosoneH [% cropes 3V 66.70% 66.70%
EDCOHANOT Monekane WcnutaHunu 3 1 1 2 1 1 3 1 1 1 3 4 1
P 3ayioBosieH | % cropeg 3Y | 100.00% | 33.30% 100.00% | 66.70% 33.30% | 33.30% 20.00% 33.30% | 33.30% |100.00% |100.00% | 80.00% 100.00%
MtHory Hcnuranunm 2 1 1 1 2 2 2 12 3 2 1 2
3a10BOJIEH % cnopen 3Y 66.70% | 33.30% 33.30% |100.00%] 66.70% | 66.70% |100.00% | 80.00% |100.00% | 66.70% 20.00% |100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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paGoTHO BpeMe * 3paBCTBEHA yCTaHOBA

31paBcTBEHa yCTaHOBA
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Boonmro Wcnuranuu 6
HE3aJ0BOJIEH | % cropen 3Y | 1.40%
Hounekane Wcnuranunu 23 4 1
paGoTHO HE3ajl0BOJICH (% cnopen 3Y | 5.30% 100.00% | 20.00%
BpeMe Ionexane Hcnuranunu 124 2 1 5 1 2 2 2 3
3a0BoNeH | % crnopen 3Y | 28.60% 66.70% | 50.00% 100.00% 50.00% | 33.30% 22.20% 50.00% | 60.00%
MsHory Wcnuranunu 281 5 1 1 3 6 2 3 2 6 1 4 2 7 4 2 2 3
3amoBosieH | % crnopen 3Y | 64.70% [100.00% ] 33.30% | 50.00% |100.00% |100.00% [100.00% 100.00% [100.00% [ 100.00%] 50.00% | 66.70% |100.00% | 77.80% 80.00% | 50.00% | 40.00% |100.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
Ionekane Wcnuranunu 1 2
paGoTHO He3aJj0BOJICH | % cnopes 3Y [ 25.00% 66.70%
BpeMe onexkane Wcnuranunu 2 9 4 1 1
3a7i0BoJIeH (% cnopen 3Y | 50.00% 64.30% 57.10% 50.00% | 33.30%
Msuory Wcnuranunu 1 1 5 5 6 3 3 3 2 1 4
3a710BoJIeH (% cnopen 3Y | 25.00% [100.00%[100.00% | 35.70% |100.00% [100.00% [100.00% [ 42.90% [100.00% [ 50.00% 100.00%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopea 3Y | 100.00% |100.00% ] 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 %
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Boomnmro HUcnuraHunu
He3aJl0BOJIeH | % cnopen 3Y
Honekane Hcnuranuiu 1 4 2 4 1 3
paGoTHO He3a10BOJICH | % cropen 3Y 7.710% 22.20% | 14.30% 16.00% 8.30% [ 16.70%
BpeMe Honekane Wcnuranunu 6 6 12 1 3 11 15 3 9 7 10
3a10BONIeH | % cmopen 3Y | 24.00% [ 46.20% 66.70% | 7.10% | 8.10% [ 31.40% | 60.00% | 50.00% | 47.40% [ 58.30% | 55.60%
Meory Hcnuranunu 19 6 8 2 11 34 24 6 3 10 4 5 15
3aj10BoseH | % cmopes 3Y | 76.00% | 46.20% [100.00%| 11.10% | 78.60% | 91.90% | 68.60% | 24.00% | 50.00% [ 52.60% | 33.30% | 27.80% [100.00%
BKyIHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
v % cmopes 3Y | 100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00%
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Boommro HcnutaHunu 3 2 1
He3afioBolieH | % cropes 3Y | 100.00% | 66.70% 100.00%
Monekane Wcnuranunu
paboTHO HE3aj10BOJIEH | % criopey 3Y
BpeMe Monekane WcnutaHunu 1 2 2 1
3aj10BOJICH | % cmopen 3Y 33.30% | 66.70% 66.70% | 20.00%
MtHory Hcnuranunm 1 3 1 3 3 2 15 3 3 3 1 1 4 2 1
3a/10BOsIeH | % cmopey 3Y 33.30% 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 33.30% | 80.00% |100.00% | 100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
v % cmope 3Y | 100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00%
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31paBcTBEHa yCTaHOBA
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Boonmro Wcnuranuu 13 1
He3aJJ0BOJIEH | % cnopen 3Y [ 3.00% 11.10%
onekane Hcnuranunu 54 1 2
HE3ajl0BOJICH | % cnopen 3Y | 12.40% 20.00% 50.00%
npuctan o |[JoHekane Ucnuranunu 117 1 2 4 2 1 5 1 2 5 1
Gonuuniara |3amoBosieH (% crnopep 3Y | 27.00% 50.00% 100.00% [ 80.00% [ 66.70% 50.00% 55.60% 20.00% | 50.00% |100.00% | 33.30%
MsHory Wcnuranunu 248 5 2 1 3 6 1 2 6 1 6 2 3 4 4 2
3amoBosieH | % crnopen 3Y | 57.10% [100.00%| 66.70% | 50.00% |100.00% |100.00% 33.30% |100.00%100.00%| 50.00% |100.00% |100.00% | 33.30% |100.00% | 80.00% 66.70%
Hema UcnuraHunu 2 1
OATOBOP % cnopen 3Y [ 0.50% 33.30%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
Ionekane WcnuraHuiu 2 1 1 1
He3aoBoleH | % cropes 3Y | 50.00% 7.10% 14.30% 25.00%
npucran fo |[loHekaze Wcnuranunu 2 1 7 4 4 1 3
Gonunnara |3anoBosieH (% cnopep 3Y | 50.00% [100.00% 50.00% | 66.70% 57.10% 50.00% 75.00%
Mmuory HcnuraHunu 5 6 2 3 3 2 2 1 3
3a/10BONIEH | % cnopey 3Y 100.00%| 42.90% | 33.30% |100.00%100.00% | 28.60% |100.00%| 50.00% |100.00%
Hema Wcnuranunu
OATOBOP % cnopes 3Y
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopea 3Y | 100.00% |100.00% ] 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 %
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Boomnmro UcnutaHunu 8 1
He3aji0BoJIeH % cnopen 3Y | 32.00% 2.70%
Iounekane Hcnuranuiu 13 2 4 2 10 3 6
He3aJl0BOJIeH [ % cnopen 3Y | 52.00% | 15.40% 22.20% 5.40% 40.00% 25.00% | 33.30%
npucran o |[doHekase Wcnuranunu 4 3 5 7 5 4 10 9 1 8 8
Gosnnuara |3agoBosieH (% crnopep 3Y | 16.00% | 23.10% | 62.50% [ 38.90% | 35.70% | 10.80% [ 28.60% | 36.00% | 16.70% 66.70% | 44.40%
Meory Hcnuranunu 7 3 7 9 30 25 6 5 19 1 4 15
3aj10BosIeH | % cmopen 3Y 53.80% | 37.50% | 38.90% | 64.30% | 81.10% | 71.40% | 24.00% | 83.30% |100.00%| 8.30% [ 22.20% [100.00%
Hewma WcnutaHunu 1
OArOBOP % cnopen 3Y 7.70%
BKyIHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 %
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Boommro HcnutaHunu 3
He3afioBolieH | % cropes 3Y | 100.00%
Monekane HcnutaHunu 1 1 1 3
He3a10BOJICH | % cropen 3Y 100.00% 50.00% 33.30% |100.00%
npucran o |[loHekane Wcnuranunu 1 2 1 1 1 1
Gonuniara |3a10BoseH (% crnopes 3Y 50.00% | 13.30% | 33.30% 100.00% 20.00% 100.00%
MtHory Hcnuranunu 3 3 1 3 3 3 13 2 2 3 4 2
3a10BONIEH | % cropey 3Y 100.00% | 100.00% | 100.00% | 100.00% 100.00% | 100.00% 86.70% | 66.70% | 66.70% 100.00%| 80.00% |100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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Boomro Hcnuranunu 11 2
HE3a/I0BOJIEH (% cnopes 3Y | 2.50% 50.00%
onekane Hcnuranunu 53 1 1 1 2 1
Zgoue”ypa ne3anosoet % criopen 3Y | 12.20% 50.00% 20.00% 16.70% 50.00% 20.00%
IN—— Hounekane Wcnuranunu 225 2 3 4 4 2 2 1 1 4 4 4 1 3 1
o Ha ¥ 3afjoBosieH | % crnopes 3Y | 51.80% | 40.00% [100.00% 66.70% 80.00% | 66.70% |100.00% | 16.70% | 50.00% | 66.70% 44.40% 80.00% | 25.00% [ 60.00% | 33.30%
npermenn MsHory Wcnuranunu 143 3 1 3 2 2 1 5 1 1 2 5 1 3 1 2
3afjoBosieH | % cropes 3Y | 32.90% | 60.00% 50.00% ]100.00% | 33.30% [100.00% 33.30% 83.30% | 50.00% [ 16.70% [100.00% | 55.60% 20.00% | 75.00% [ 20.00% | 66.70%
Hema Hcnuranunu 2
OATOBOP % cnopen 3Y [ 0.50%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cropes 3Y | 100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
He3aJl0BOJICH | % cnopen 3Y
Monekane WcnuraHunu 2 1 3 1
MPOUCAYPA | wesaposoneH [% cnopes 3y | 50.00% 20.00% | 21.40% 33.30%
izkax var, |[Rorexane  [Mcnmranmun 2 6 6 2 2 4 1 1 1 4
e Ha Y 3a10BoNeH | % cropes 3Y | 50.00% 42.90% ]100.00%| 66.70% | 66.70% | 57.10% | 50.00% | 50.00% | 33.30% |100.00%
nperne MtHory Hcnuranunu 1 4 4 1 1 3 1 1 1
3a[10BONIEH | % cnopey 3Y 100.00% | 80.00% | 28.60% 33.30% | 33.30% | 42.90% | 50.00% | 50.00% | 33.30%
Hema Ucnutanunu 1
OJIFOBOP % cnopen 3Y 7.10%
BKYIHO WcnutaHunu 4 1 5 14 6 3 3 7 2 2 3 4
y % cnopez 3Y | 100.00% |100.00% ] 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 %
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Boonmiro Wcnutanunu 2 4
He3aJl0BOJIeH | % cnopen 3Y 5.40% 16.00%
Honekane Hcnuranuiu 2 3 4 2 4 2 8 1 2 6 4
PPOUCAYPY. | esanononen [% cropea 3V | 8.00% | 23.10% 22.20% | 14.30% | 10.80% | 5.70% | 32.00% 530% | 16.70% | 33.30% | 26.70%
— Iounekane Wcnuranuiu 23 8 6 9 10 10 15 12 5 7 6 8 11
o A ¥ 3ayi0BoNeH | % cmopeg 3Y | 92.00% | 61.50% | 75.00% | 50.00% | 71.40% | 27.00% | 42.90% | 48.00% | 83.30% | 36.80% | 50.00% | 44.40% | 73.30%
npersenn MtHory Wcnuranunu 2 2 5 2 21 18 1 1 11 4 4
3ay10B0NeH | % cnopep 3Y 15.40% | 25.00% | 27.80% | 14.30% | 56.80% [ 51.40% | 4.00% | 16.70% | 57.90% [ 33.30% | 22.20%
Hewma HcnutaHunu
OJIFOBOP % cnopen 3Y
BKymHO WcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
v % cnopes 3Y | 100.00% |100.00% |100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % [ 100.00%
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Boommro HcnutaHunu 3
He3afioBolieH | % cropes 3Y | 100.00%
Monekane HcnutaHunu 2
:;)Oueuypa He3aJ[0BOJIEH | % cnopen 3Y 40.00%
—— Honekane WcnutaHunu 1 1 2 1 2 1 15 1 3 1 1 1
e Ha Y 3a/10BOJIEH % cnopen 3Y 33.30% |100.00%| 66.70% 33.30% | 66.70% | 50.00% |[100.00% 33.30% |100.00%]100.00%| 33.30% | 20.00%
npersenu MtHory Hcnuranunm 3 2 1 1 2 1 1 3 1 2 2 2 1
3a/{0BOJIEH % cnopen 3Y 100.00% | 66.70% 33.30% |100.00%| 66.70% | 33.30% | 50.00% 100.00% | 33.30% 66.70% | 40.00% |100.00% | 100.00%
Hema WcnutaHunu 1
OIrOBOP % cnopeg 3Y 33.30%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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Boonmro Wcnuranuu 10 1
HE3a/I0BOJIEH (% cnopea 3Y | 2.30% 25.00%
Hounekane Wcnuranunu 95 1 1 1 1 1 3 3 1
EPEMETO Ha He3aJJ0BOJIEH | % cnopes 3Y [ 21.90% 33.30% 20.00% | 33.30% 50.00% | 16.70% 75.00% | 60.00% 20.00%
qu)KaH,e aa Hounekane Wcnuranunu 224 2 1 1 3 1 4 2 1 1 1 5 5 1 1 4 3
— 3a0BosIeH % cnopen 3Y | 51.60% | 40.00% | 33.30% 33.30% | 50.00% | 50.00% | 80.00% [ 66.70% [ 50.00% | 16.70% | 50.00% | 83.30% 55.60% 20.00% | 25.00% | 80.00% [100.00%
MsHory Wcnuranunu 104 3 1 2 2 3 1 1 5 2 4 3
3amoBosieH | % crnopen 3Y | 24.00% [ 60.00% | 33.30% |100.00%| 66.70% | 50.00% [ 50.00% 50.00% | 83.30% 100.00% | 44.40% 75.00%
Hewma UcnuraHunu 1 1
OJIrOBOP % crnopen 3y | 0.20% 20.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
Ionekane WcnuraHuiu 2 1 2 2 3
EDEMETO Ha He3aoBoleH | % cropes 3Y | 50.00% 20.00% 33.30% 28.60% 75.00%
qua}se aa Ionekane WcnuraHuiu 2 2 9 4 1 4 2 2 1
npernen 3a7i0BoJIeH (% cnopen 3Y | 50.00% 40.00% | 64.30% | 66.70% | 33.30% 57.10% 1100.00% | 100.00% 25.00%
Msuory Wcnuranunu 1 2 5 2 3 1 3
3aJI0BOJIeH % cnopen 3Y 100.00% | 40.00% | 35.70% 66.70% 1100.00% | 14.30% 100.00%
Hema Wcnuranunu
OATOBOP % cnopes 3Y
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boommiro HcnuraHunu 2 2 4 1
He3aj10BOJIEH | % cropen 3Y 5.40% | 5.70% [ 16.00% 5.60%
Honekane Wcnuranunu 7 3 4 1 5 18 14 1 2 5 7
BpeMeTo Ha HC33A0BoNCH % cnopex 3Y | 28.00% | 23.10% 22.20% | 7.10% | 13.50% | 51.40% [ 56.00% | 16.70% | 10.50% 27.80% | 46.70%
lII;KaH)e a Iounekane Wcnuranuiu 18 8 6 9 12 17 12 6 4 14 5 11 8
mpermen 3a10BosIeH | % cmopen 3Y | 72.00% | 61.50% | 75.00% | 50.00% | 85.70% | 45.90% | 34.30% [ 24.00% | 66.70% | 73.70% | 41.70% | 61.10% | 53.30%
MtHory Wcnuranunu 2 2 5 1 13 3 1 1 3 7 1
3aj10BosIeH | % cmopen 3Y 15.40% | 25.00% [ 27.80% | 7.10% | 35.10% | 8.60% | 4.00% | 16.70% [ 15.80% | 58.30% | 5.60%
Hewma HcnutaHunu
OJIFOBOP % cnopen 3Y
BKymHO WcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane HcnutaHunu 3 1 1 1
BPEMETO Ha He3a10BOJIEH | % cropey 3Y | 100.00% 6.70% 33.30% |100.00%
q‘e’Kam o [onexane [Mcnuranu 2 1 3 3 1 14 2 2 2 1
npersen 3a/10BOJIEH % cnopen 3Y 66.70% |100.00% | 100.00% 100.00% | 33.30% 93.30% 66.70% | 66.70% 66.70% | 20.00%
MtHory Hcnuranunm 3 1 1 2 2 3 1 1 4 2 1
3a10BOJIEH % cnopen 3Y 100.00%] 33.30% 100.00% 66.70% |100.00% 100.00% | 33.30% 33.30% | 80.00% |100.00% | 100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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Boonmro Wcnuranuu 13 1 4
He3aj10BOJICH | % cnopen 3Y | 3.00% 11.10% {100.00%
Hounekane Wcnuranunu 73 1 2 1 1 2
BpEMETO Ha
GeRamE 33 HE3a10BOJICH | % criopes 3Y | 16.80% 33.30% 40.00% 16.70% 20.00% 40.00%
HCTHTYBamA Hounekane Wcnuranunu 228 2 1 1 2 1 2 3 2 5 1 5 2 6 4 2 3 1
3a70BosIeH % cnopen 3Y | 52.50% | 40.00% | 33.30% 33.30% | 33.30% | 50.00% | 40.00% [100.00% [100.00% | 83.30% | 50.00% | 83.30% |100.00% | 66.70% 80.00% | 50.00% | 60.00% | 33.30%
MsHory Wcnuranunu 120 3 1 2 2 4 1 1 1 1 2 2 2
3a10BosieH | % cmopes 3Y | 27.60% | 60.00% [ 33.30% |100.00% | 66.70% | 66.70% [ 50.00% | 20.00% 16.70% [ 50.00% 22.20% 50.00% 66.70%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
BDEMETO Ha Ionekane Wcnuranunu 2 1 2 2
qEKaH)e 4a |FLC3ANOBOTICH % cnopea 3Y [ 50.00% 20.00% 33.30% 28.60%
O Ionekane WcnuraHuiu 2 1 2 5 4 2 2 2 2 1 4
3a7i0BoJIeH (% cnopen 3Y | 50.00% [100.00% | 40.00% | 35.70% | 66.70% [ 66.70% 28.60% 1100.00% | 100.00% | 33.30% |100.00%
Msuory Wcnuranunu 2 9 1 3 3 2
3aJI0BOJIeH % cnopen 3Y 40.00% | 64.30% 33.30% 1100.00% | 42.90% 66.70%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopea 3Y | 100.00% |100.00% ] 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 %
KpocTabynaumm

,TAEH NaumeHT” - NpB aen



< < .S < s S < < < < < < B < < Q <
g8 EE| E8| E5 | E5| EE| E8 | §c | EE | E&| E8| §8 | £E
=] =] = 2 e oS z g g g = E =S E =] =5 =]
S5 | 55| 25| EE|EE| SE| EE|ES| 25| G:| 22| EE| B¢
A = Ao | @¥ [ &5 | & BB | aF | & e ag | @ B | B
Boonmiro Wcnutanunu 2 6
He3aJl0BOJIeH | % cnopen 3Y 5.40% 24.00%
EPEMETO Ha Iounekane Hcnuranuiu 6 3 1 4 3 6 6 13 2 1 2 1 6
qu)Ka}Le 4q |HC38M0BONCH % cnope 3Y | 24.00% | 23.10% | 12.50% | 22.20% | 21.40% | 16.20% | 17.10% | 52.00% | 33.30% | 5.30% [ 16.70% | 5.60% | 40.00%
OSR— Iounekane Wcnuranunu 19 6 7 9 3 9 23 5 4 13 6 10 8
3af10BoNeH | % cmopeg 3Y | 76.00% | 46.20% | 87.50% | 50.00% | 21.40% | 24.30% | 65.70% | 20.00% | 66.70% | 68.40% | 50.00% | 55.60% | 53.30%
MtHory Wcnuranunu 4 5 8 20 6 1 5 4 7 1
3aj10BoNIeH | % cnopep 3Y 30.80% 27.80% | 57.10% | 54.10% | 17.10% | 4.00% 26.30% | 33.30% | 38.90% | 6.70%
BKymHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopeg 3Y | 100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00%
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
EPeMETO Ha Monekane HcnutaHunu 3 2
opemero n |nesanononen [% cropen3Y_| 100.00% 66.70%
— Monekane WcnutaHunu 2 1 2 3 2 1 15 1 2 1 2 3 1
Y 3ayj0BoNeH | % cnopeg 3Y 66.70% |100.00% | 66.70% 100.00% | 66.70% | 50.00% |100.00% | 33.30% | 66.70% | 33.30% 66.70% | 60.00% 100.00%
MtHory Hcnuranunm 3 1 1 1 1 1 2 1 1 1 2 2
3a10BOJIEH % cnopen 3Y 100.00%| 33.30% 33.30% |100.00% 33.30% | 50.00% 66.70% | 33.30% 100.00% | 33.30% | 40.00% |100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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Boonmro Wcnuranunmu 19 1 4 1
He3aJJ0BOJIEH | % cnopen 3Y | 4.40% 16.70% 100.00% 20.00%
BDEMETO Ha onekane Hcnuranunu 56 2 1 1 1
‘[I;KaH)e a HE3aj10BOJICH | % criopes 3Y | 12.90% 40.00% 11.10% 20.00% | 33.30%
pesyITTaTH Hounekane Wcnuranunu 237 3 2 1 1 3 2 3 1 4 5 1 7 4 3 2
3amoBosieH | % crnopen 3Y | 54.60% [ 60.00% | 66.70% | 50.00% | 33.30% | 50.00% 40.00% 1100.00% | 50.00% | 66.70% 83.30% | 50.00% | 77.80% 80.00% 60.00% | 66.70%
MsHory Wcnuranunu 122 2 1 1 2 2 2 1 1 2 2 1 1 1 1 4
3a10BosieH | % cmopes 3Y | 28.10% | 40.00% [ 33.30% | 50.00% | 66.70% | 33.30% [100.00% | 20.00% 50.00% | 33.30% |100.00%| 16.70% [ 50.00% | 11.10% 20.00% |100.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
BDEMETO Ha Ionekane Wcnuranunu 2 1 2
‘{EKaHﬂi ha |HC33AOBOICH % cnopen 3Y | 50.00% 16.70% 28.60%
peayIITaTH Ionekane WcnuraHuiu 1 1 2 6 5 3 2 1 2 2 1 4
3aoBosieH | % crmopen 3Y | 25.00% [100.00%| 40.00% | 42.90% | 83.30% |100.00% | 66.70% [ 14.30% |100.00%|100.00% | 33.30% |100.00%
Msuory Wcnuranunu 1 3 8 1 4 2
3a7l0BoJIeH (% cnopen 3Y | 25.00% 60.00% | 57.10% 33.30% | 57.10% 66.70%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boommiro HcnuraHunu 1 1 7
He3aJl0BOJIeH | % cnopen 3Y 7.10% | 2.70% 28.00%
EPEMETO Ha Iounekane Hcnuranuiu 6 3 1 4 2 6 2 10 3 2 1 5
qu)Ka}LeHa He3al0BOJIeH | % cropes 3Y | 24.00% | 23.10% [ 12.50% | 22.20% | 14.30% | 16.20% [ 5.70% | 40.00% | 50.00% 16.70% [ 5.60% | 33.30%
pesyaTaTH Iounekane Wcnuranunu 19 6 7 9 10 8 24 8 3 6 4 12 10
3ay10BoneH | % cmopes 3Y | 76.00% | 46.20% | 87.50% | 50.00% | 71.40% | 21.60% [ 68.60% | 32.00% | 50.00% | 31.60% [ 33.30% | 66.70% | 66.70%
Meory HcnutaHunu 4 5 1 22 9 13 6 5
3aj10BoseH | % cmopen 3Y 30.80% 27.80% | 7.10% | 59.50% | 25.70% 68.40% | 50.00% | 27.80%
BKymHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
v % cmopes 3Y | 100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00%
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Boomiro WcnuraHunu 3 1
He3afioBolieH | % cropes 3Y | 100.00% 100.00%
EPeMETO Ha Monekane HcnutaHunu 1
'{Ie)KaH;e Ha He3aJ[0BOJIEH | % cnopen 3Y 33.30%
e3VITATH Monekane WcnutaHunu 1 2 1 3 2 2 15 1 3 3 2 4
pesy 3a10BOJIEH | % cropen 3Y 33.30% | 66.70% 33.30% 100.00% | 66.70% [100.00%100.00% | 33.30% [100.00% [100.00% 66.70% | 80.00%
MtHory Hcnuranunm 2 2 1 1 2 1 1 1 2 1
3aJ{0OBOJIEH % cnopen 3Y 66.70% 66.70% |100.00% 33.30% 66.70% 100.00% | 33.30% | 20.00% | 100.00% | 100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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Boonmro Wcnuranuu 6
HE3aJ0BOJIEH | % cropen 3Y | 1.40%
onekane Hcnuranunu 71 1 1 3 1 1 2 3
OfHOC Ha  |He3ajoBoIICH (% cropen 3Y | 16.40% 33.30% 50.00% | 60.00% 11.10% [ 25.00% | 40.00% 60.00%
mwanrepcku |[lonekane Hcnuranunu 212 2 1 2 3 1 2 4 1 4 3 2 2
cyxOenun, [3agoBoner (% crnopen 3y | 48.80% 66.70% | 50.00% 40.00% 1100.00% | 50.00% 100.00%| 66.70% | 50.00% | 44.40% [ 75.00% 40.00% | 66.70%
u MsHory Wcnuranunu 144 5 1 3 6 1 1 6 2 1 4 2 4 1
3aoBoneH | % crnopen 3Y | 33.20% [100.00% 50.00% ]100.00% ]100.00% | 50.00% 50.00% |100.00% 33.30% | 50.00% | 44.40% 40.00% |100.00% 33.30%
Hewma UcnuraHunu 1 1
OJIrOBOP % crnopen 3y | 0.20% 20.00%
Biymo Hcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
% cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu
HE3a[0BOJIEH | % criopes 3Y
TMouekane UcnuraHunu 3 1
OJTHOC Ha He3aloBoleH | % cropes 3Y | 75.00% 25.00%
mantepcku |[lonekane HcnuraHunu 1 2 9 5 1 1 4 1 1 3
CityKOeHuIl [3a10BONeH % cropen 3Y | 25.00% 40.00% | 64.30% | 83.30% | 33.30% | 33.30% [ 57.10% 50.00% | 33.30% | 75.00%
u Mmuory HcnuraHunu 1 3 5 1 2 2 3 2 1 2
3a/10BONIEH | % cnopey 3Y 100.00% ] 60.00% | 35.70% | 16.70% [ 66.70% | 66.70% | 42.90% |100.00% | 50.00% | 66.70%
Hema Wcnuranunu
OATOBOP % cnopes 3Y
Bryniio WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
% cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boommiro Wcnuranunu S 1
HE3aJI0BONEH | % cniopen 3Y 20.00% 6.70%
Honekane Hcnuranuiu 5 2 10 3 1 5 11 2 2 6
OJIHOC Ha He3aji0BoJIeH [ % cnopen 3Y | 20.00% | 15.40% 55.60% | 21.40% | 2.70% | 14.30% | 44.00% 16.70% | 11.10% | 40.00%
mwanrepcku |[oHekase Wcnuranunu 20 8 7 3 6 12 25 9 3 17 6 8 6
cnyxGenuly |3aoBosieH (% cnopep 3Y | 80.00% | 61.50% | 87.50% | 16.70% | 42.90% | 32.40% | 71.40% | 36.00% | 50.00% | 89.50% [ 50.00% | 44.40% | 40.00%
u MtHory Wcnuranunu 3 1 5 5 24 5 3 2 4 8 2
3aj10BosIeH | % cmopen 3Y 23.10% | 12.50% | 27.80% | 35.70% | 64.90% | 14.30% 50.00% | 10.50% | 33.30% | 44.40% | 13.30%
Hewma HcnutaHunu
OJIFOBOP % cnopen 3Y
BKyIHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 %
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Boommro Wcnuranunu
HE3aj10BOJIEH | % criopey 3Y
Monekane HcnutaHunu 1 1 1 4 1
OJIHOC Ha He3a/10BOJIeH [ % cnopen 3Y | 33.30% 33.30% |100.00% 26.70% 33.30%
manrepckn |[loHekane WcnutaHunu 2 1 2 1 1 1 11 1 3 1 1 2
cnyxOenun [3aoBoneH (% crnopen 3Y | 66.70% | 33.30% | 66.70% 33.30% 33.30% | 50.00% | 73.30% 33.30% |100.00%]100.00% | 33.30% | 40.00%
u MtHory Ucnuranunu 2 2 1 3 2 1 3 2 1 3 2 1
3a10BONIEH | % cropey 3Y 66.70% 66.70% |100.00% ]100.00% | 66.70% | 50.00% 100.00% | 66.70% 33.30% | 60.00% |100.00% | 100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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Boonmro Wcnuranunmu 39 2 1 3
He3aJJ0BOJIEH | % cnopen 3Y [ 9.00% 40.00% 16.70% 60.00%
onekane Hcnuranunu 154 1 3 2 4 2 1 1 2
if;:fq‘ig "BO HesaioBosieH | % cnopes 3Y | 35.50% 50.00% 60.00% | 66.70% 66.70% 22.20% | 25.00% 25.00% | 40.00%
quanHE onekane Hcnuranunu 161 1 1 2 1 1 2 1 3 3 2 2 3
3afjoBosieH | % cropes 3Y | 37.10% 33.30% | 50.00% 100.00% 33.30% | 50.00% 100.00% 16.70% 33.30% | 75.00% [ 40.00% | 50.00% 100.00%
MsHory Wcnuranunu 80 5 2 3 6 1 6 2 4 3 1
3a0BoNeH | % crnopen 3Y | 18.40% [100.00%| 66.70% 100.00% | 100.00% 50.00% |100.00% 100.00% | 44.40% 60.00% | 25.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cropes 3Y | 100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00%
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Boomnmro HcnuraHunu 1
HEe3aJI0BOJIEH | % cnopej 3Y 20.00%
CHOBU Ionekane Wcnuranunu 4 1 6 1 3 2 2 4
ioﬁncbo so |HE3an0BONCH % cnopes 3Y | 100.00% 20.00% | 42.90% | 16.70% [100.00% 28.60% 100.00% 100.00%
quanHl; Ionekane WcnuraHuiu 2 7 5 5 1 2
3aj10BosieH | % cmopey 3Y 40.00% | 50.00% | 83.30% 71.40% | 50.00% 66.70%
Msuory Wcnuranunu 1 1 1 3 1 1
3aj10BosieH | % cmopes 3Y 100.00%] 20.00% | 7.10% 100.00% 50.00% 33.30%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00%
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Boommiro HcnuraHunu 1 3 2 16 1 7
HE3aJI0BOJIEH | % criopes 3Y 7.10% | 8.10% | 5.70% | 64.00% | 16.70% 46.70%
— Honekane Hcnuranuiu 13 1 2 5 7 10 21 7 5 8 2 10 7
1{0M¢)o 5o |HE3aL0BONEH % cnopep 3Y | 52.00% | 7.70% | 25.00% | 27.80% | 50.00% | 27.00% [ 60.00% | 28.00% | 83.30% [ 42.10% | 16.70% | 55.60% | 46.70%
quanHl; Honekane Wcnuranuiu 12 8 4 5 4 19 12 2 9 7 6 1
3a/10BoseH | % cmopes 3Y | 48.00% | 61.50% [ 50.00% | 27.80% | 28.60% | 51.40% | 34.30% | 8.00% 47.40% | 58.30% | 33.30% [ 6.70%
MtHory Wcnuranunu 4 2 8 2 5 2 3 2
3aj10BoseH | % cmopen 3Y 30.80% | 25.00% | 44.40% | 14.30% | 13.50% 10.50% | 25.00% [ 11.10%
BKymHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
v % cnopes 3Y | 100.00% |100.00% |100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % [ 100.00%
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Boommro Wcnuranunu 2
He3aJloBOIICH | % cropes 3Y 66.70%
S Monekane HcnutaHunu 2 5 3 1 1 2 2 1
iowbo o [HE33A0BONICH % cropes 3Y 100.00% | 33.30% 100.00% | 33.30% [100.00% [ 66.70% | 40.00% 100.00%
%KMH‘; Tonekane | Vicnuranmmm 3 2 3 1 2 2 10 1 1 3
3a/10BOJIEH | % cmopes 3Y | 100.00% [ 66.70% |100.00%|100.00% 66.70% | 66.70% 66.70% | 33.30% 33.30% | 60.00%
MtHory Hcnuranunm 1 3 1 1 1 2 2
3a/10BOJIEH % cnopen 3Y 33.30% 100.00% | 100.00% | 33.30% | 33.30% 66.70% 100.00%
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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31paBcTBEHa yCTaHOBA
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Boonmro Wcnuranuu 18 1 1
HE3aJJ0BOJIEH | % cnopen 3Y | 4.10% 20.00% 25.00%
onekane Hcnuranunu 71 1 4 1 3 1 5
HDUBATHOCT He3aJJ0BOJIEH | % cnopes 3Y [ 16.40% 33.30% 80.00% | 33.30% 75.00% | 20.00% 100.00%
353 eve Ha onekane Hcnuranunu 131 2 1 2 2 3 2 2
npefneu 3ajoBosieH | % crnopen 3Y | 30.20% 66.70% | 50.00% 66.70% 100.00% 33.30% 40.00% 66.70%
MsHory Hcnuranunu 211 5 1 3 6 2 2 6 6 2 6 4 1
3aoBoneH | % crnopen 3Y | 48.60% [100.00% 50.00% ]100.00% |100.00% [100.00% 100.00% | 100.00% 100.00% [100.00% | 66.70% 100.00% 33.30%
Hema Hcnuranunu 3 2
OJIrOBOP % cropen 3Y | 0.70% 40.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Boomnmro HcnuraHunu 2
He3aJoBoIeH | % cnopej 3Y 50.00%
Ionekane WcnuraHuiu 1 1 1 3
HE3a/J0BOJIEH | % cnopes 3Y [ 25.00% 7.10% [ 16.70% 75.00%
NPUBATHOCT
32 BDEME Ha Jlonekane Wcnuranunu 4 5 2 4 1 2 1
npefneu 3aJI0BOJIeH % cnopen 3Y 28.60% | 83.30% | 66.70% 57.10% | 50.00% 66.70% | 25.00%
Msuory Wcnuranunu 1 5 9 1 3 3 1 2 1
3a/10BONIEH | % cnopey 3Y 100.00%]100.00% | 64.30% 33.30% |100.00% | 42.90% | 50.00% [100.00% | 33.30%
Hema WcnuraHuiu 1
OJrOBOp % cnopes 3Y [ 25.00%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Boommiro HcnuraHunu 10 3
He3aJl0BOJIeH | % cnopen 3Y 40.00% 20.00%
Honekane Hcnuranuiu 5 5 2 5 1 1 11 1 1 12
DHBATHOCT He3ayioBoJIeH [ % cnopen 3Y | 20.00% [ 38.50% [ 25.00% [ 27.80% [ 7.10% [ 2.70% 44.00% | 16.70% 5.60% | 80.00%
35}3peMe Ha Iounekane Wcnuranunu 20 2 5 6 8 9 6 2 2 4 10
npernen 3a710BoJIeH (% cnopen 3Y | 80.00% | 15.40% | 62.50% | 33.30% | 57.10% | 24.30% | 17.10% | 8.00% | 33.30% 33.30% | 55.60%
MtHory HcnuraHunu 6 1 7 5 27 29 2 3 19 8 7
3aj10BosIeH | % cmopen 3Y 46.20% | 12.50% | 38.90% | 35.70% [ 73.00% | 82.90% | 8.00% | 50.00% |100.00% | 66.70% | 38.90%
Hewma HcnutaHunu
OJIFOBOP % cnopen 3Y
BKyIHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00 %
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Boommro Wcnuranunu 1
He3afioBolieH | % cropes 3Y | 33.30%
Monekane HcnutaHunu 1 4 1
NDHBATHOCT He3a/10BOJIeH [ % cnopen 3Y | 33.30% 26.70% 33.30%
353 oMe Ha Honekane WcnutaHunu 1 3 1 2 10 2 2 3
Hpefneu 3a/10BoJIeH % cnopen 3Y | 33.30% 100.00%]100.00% | 66.70% 66.70% 66.70% 66.70% | 60.00%
MtHory Hcnuranunm 3 1 1 3 3 2 1 3 3 1 1 2 2 1
3a10BONIEH | % cropey 3Y 100.00% 33.30% |100.00%]100.00% | 100.00% [100.00% | 6.70% |100.00% | 100.00% 100.00% | 33.30% | 40.00% | 100.00% | 100.00%
Hewma Wcnuranunu
OJIFOBOP % cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopes 3Y | 100.00% |100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00 %
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o nonoBuHa | UciuTanunm 331 5 1 2 3 5 1 3 2 2 4 2 6 2 9 4 3 3 1 3
Jac % crnopen 3Y | 76.30% |100.00%] 33.30% |100.00% ]100.00% | 83.30% | 50.00% | 60.00% | 66.70% |100.00% | 66.70% |100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 60.00% | 75.00% | 20.00% | 100.00%
Mery Wcnuranunu 89 2 1 1 2 1 2 1 1 4
e oy [momommian_[% criopea3V_| 20.50% 66.70% 16.70% | 50.00% | 40.00% | 33.30% 3330% 20.00% | 25.00% | 80.00%
Mery efieH U |Ucnutanunm 11 1
WANTEP | pawaca (% ciopen 3y | 2.50% 20.00%
Mefy iBam  |HcmuraHuuu 3
yeThpH yaca (% cnopes 3y | 0.70%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cropes 3Y | 100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00%
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o nonoBuHa |UcnuTaHUIU 1 5 14 5 3 3 6 2 2 3 2
qac % cnopep 3Y 100.00% 100.00% [ 100.00% | 83.30% [100.00% |100.00% | 85.70% |100.00% |100.00% [100.00% [ 50.00%
Mmery Wcnuranunu 2 1 1 2
2{;2:):‘;3 nonosuna u % cropen 3y | 50.00% 16.70% 14.30% 50.00%
mantep Merfy efieH n |UcnutaHunu 2
1Ba Jaca % cnopes 3Y [ 50.00%
MefyaBau  |Mcnurauuum
ueTHpH Jaca % crnopes 3Y
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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o nonosuHa |UcnutaHuiu 11 5 6 6 14 23 35 10 6 19 6 18 13
yac % criopes 3Y | 44.00% | 38.50% [ 75.00% | 33.30% |100.00% | 62.20% [100.00% | 40.00% |100.00% |100.00% [ 50.00% [100.00% | 86.70%
EpeMe Ha Mmery Wcnuranunu 14 6 2 11 12 15 2
qu)Ka}Le g |FOUOBHHA K % criopes 3Y | 56.00% | 46.20% [ 25.00% | 61.10% 32.40% 60.00% 13.30%
manTep Mefy efieH 1 |Wcnuranuuu 2 1 2 3
jiBa vaca % cropen 3Y 15.40% 5.60% 5.40% 25.00%
Mefy aiBa M [McnuTaHHLM 3
4eTUpH Yaca |% cnopen 3Y 25.00%
BKymHO HcnuraHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
v % cmopes 3Y | 100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00%
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Mo nmonosuHa |UcnutaHuiu 3 3 3 2 1 3 3 2 11 3 3 3 1 3 5 2 1
vac % cropes 3Y | 100.00% |100.00% [100.00% 66.70% |100.00% [100.00% | 100.00% ] 100.00% | 73.30% [100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% [ 100.00%
BpeMe Ha Mmery Hcnuranunu 1 1 4
P HoJNoBUHA U | % cropen 3Y 100.00%] 33.30% 26.70%
YeKarmbe 3a ~
Mely efileH u |McnuTaHunu
mantep
JIBa yaca % cnopen 3Y
Mmefy iBau  |HcnuraHunu
4JeTHpH Yaca |% cnopen 3Y
BKYIHO WcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopez 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00% | 100.00 %
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o nonoBuHa | UciuTanunm 258 5 1 2 3 6 1 1 2 2 6 1 6 2 4 2 3 3
qac % cropen 3Y | 59.40% [100.00% | 33.30% [100.00% |100.00%]100.00% | 50.00% | 20.00% | 66.70% [100.00% |100.00% | 50.00% |]100.00% |100.00% | 44.40% 40.00% | 75.00% | 40.00% |100.00%
Mery Hcnuranunu 119 2 1 1 1 1 5 2 1 1
nosioBuHa M| % cnopes 3Y | 27.40% 66.70% 50.00% | 20.00% | 33.30% 50.00% 55.60% | 50.00% | 20.00% | 25.00%
BDEME Ha Mery efieH U |Ucnutanunm 37 2 2 1 1
ey |mamaca [% cropen3y | 8.50% 40.00% 50.00% | 20.00% 20.00%
npernien merfy iBau  |UcnuraHunm 13 1 1
ugeTupy yaca | % cnopen 3Y | 3.00% 20.00% 20.00%
R HUcnutanuuu 2 1
% cnopep 3Y 0.50% 20.00%
70 efHa UcnuraHunu 5 1
Hejena % cropen 3Y | 1.20% 20.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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o nmonosuHa |UcnutaHuiu 1 3 7 5 3 3 2 2 2 3 4
qac % cropez 3Y 100.00% | 60.00% | 50.00% | 83.30% [100.00% |100.00% | 28.60% |100.00% | 100.00% | 100.00% [ 100.00%
Mmery Hcnuranunm 1 2 7 1 4
nosnoBuHa U |% crnopen 3Y | 25.00% 40.00% | 50.00% | 16.70% 57.10%
EpeMe Ha Mefy efieH 1 |Ucnuranunu 3 1
P nBa uaca % criopes 3Y | 75.00% 14.30%
YeKame 3a —
Mel"y ABa 1 HCHI/ITZ‘IHHLU/I
nperies
4JeTHpH Yaca |% cnopen 3Y
CIICH JTCH WcnutaHunu
ACHA % cnopen 3Y
JIO eiHa Wcnuranunu
Hejlena % cnopen 3Y
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o nonosuHa |UcnutaHuiu 15 7 6 7 13 16 8 2 4 19 4 7 14
qac % cnopen 3Y | 60.00% | 53.80% | 75.00% | 38.90% | 92.90% | 43.20% | 22.90% | 8.00% | 66.70% ]100.00% | 33.30% | 38.90% | 93.30%
Mmery HcnuraHunu 10 6 2 9 1 16 14 9 2 2 8 1
nosioBuHa U |% cropen 3Y | 40.00% | 46.20% | 25.00% | 50.00% | 7.10% | 43.20% | 40.00% [ 36.00% | 33.30% 16.70% [ 44.40% | 6.70%
BpeMe Ha Mefy efieH 1 |Wcnuranuuu 2 4 10 6 2 3
q[e)Ka}Le 5a |ABAHACA % crnopes 3Y 11.10% 10.80% | 28.60% | 24.00% 16.70% | 16.70%
mpernen Mmefy gBau  |Mcnuranuuu 1 3 3 4
yeTHpH vaca % cnopen 3Y 2.70% | 8.60% | 12.00% 33.30%
eeH e Wcnutanunu 1
ACH A % cnopen 3Y 4.00%
J10 efHa Wcnuranunu 4
Hefiesa % cnopen 3Y 16.00%
BKyIHO HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
4 % cnopes 3Y | 100.00% |100.00% | 100.00% | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 % | 100.00 %
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Mo nmonoBuHa |UcnuTaHuiu 3 3 1 3 3 2 14 3 3 3 1 2 5 2 1
Jac % cnopen 3Y 100.00% 100.00% | 100.00% | 100.00% | 100.00% ] 100.00% | 93.30% |100.00% | 100.00% | 100.00% | 100.00% | 66.70% |100.00% | 100.00% | 100.00%
ey Wcnutanunu 3 3 1 1 1
MOJIOBUHA 1
et e % cnopez 3Y | 100.00% 100.00% | 100.00 % 6.70% 33.30%
Mefy efeH u  |Mcnutanunu
Bpeme fa JiBa yaca % cnopen 3Y
YeKame 3a -
Hpernen Mel"y ABa 1 I/ICHI/ITaHMLU/l
YETHPH Yaca % cnopen 3Y
CIICH JTCH WcnutaHunu
ACHA % cnopen 3Y
JIO eiHa Wcnuranunu
Hepena % cnopen 3Y
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Hema Wcnuranunu 1
OJICOBOP % cnopes 3Y 0.20%
o nonosuHa |UcnutaHuiu 215 1 1 1 3 2 6 1 3 2 2
vac % cnopes 3Y | 49.50% 33.30% | 50.00% 20.00% |100.00% 100.00% | 100.00% 11.10% 60.00% 40.00% | 66.70%
Mmery Hcnuranunu 102 2 2 8 1 1 1 1
nosioBuHa u | % crnopen 3Y | 23.50% 66.70% 40.00% 88.90% 20.00% | 25.00% | 20.00% | 33.30%
Mefy efieH 1 |Wcnuranunu 32 1 1 1 2 1
7Ba yaca % cnopen 3Y | 7.40% 50.00% 50.00% | 20.00% 50.00% | 20.00%
BpeMe Ha =
weRame 3a |METY ABa A HcnuraHunu 20 1 2
4yeTHpH Yaca |% cnopen 3Y 4.60% 25.00% 40.00%
V[Cl'[V[TyBaH)e
enien fen Wcnuranunu 26 2 2 1 1
% cnopex 3Y | 6.00% | 40.00% 66.70% 50.00% 25.00%
710 efHa Wcnutanunu 27 2 1 4 1 1 2 4 1 1 1
Hejena % cnopex 3Y | 6.20% | 40.00% 33.30% | 66.70% | 50.00% | 20.00% 100.00% | 66.70% 50.00% 25.00% 25.00%
710 efieH WcnuraHunu 9 1 2 2 1
Mecell % cnopep 3Y | 2.10% | 20.00% 33.30% 33.30% 25.00%
moBeKe off Wcnuranunu 2
efieH mecell, | % cnopeg 3Y 0.50%
T HcnutaHunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
% cnopes 3Y | 100.00% |100.00% [100.00% [ 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 %
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Hema Kcnutanuuu 1
OJITOBOP % cnopes 3Y 14.30%
o nonoBuHa | UciuTanunm 1 2 12 5 2 3 2 1 3
qac % cropez 3Y 100.00% | 40.00% | 85.70% | 83.30% | 66.70% 42.90% 1100.00% | 50.00% 75.00%
Mery Hcnuranunu 3 2 1 1 2 1 1 1
nonosuHa U | % cropexn 3Y | 75.00% 40.00% 16.70% | 33.30% 28.60% 50.00% | 33.30% | 25.00%
Mery efieH n  |Ucnutanunm 1 1 1 1
JBa Jaca % cnopes 3Y [ 25.00% 7.10% 14.30% 33.30%
BpeMe Ha ”
wexame 3a | METY ABa M Hcnuranunu 1 1
ueTnpy yaca | % cnopej 3Y 7.10% 33.30%
HCIUTYBabe
P Wcnuranunu 3
Aet A % criopes 3Y 100.00%
70 efHa UcnuraHunu
Henena % cnopen 3Y
70 eieH UcnuraHunu 1
Mecel] % cnopen 3Y 20.00%
ToBeKe off Hcnuranunu
efeH mecelr | % cropen 3Y
BKVIIHO Wcnuranunu 4 1 5 14 6 3 3 7 2 2 3 4
Y % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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Hewma Wcnuranunu
OArOBOP % cnopen 3Y
Jlo nonosuHa |UcnutaHuuu 22 3 6 2 11 18 15 2 4 15 3 10 9
qac % cnopesn 3Y | 88.00% | 23.10% [ 75.00% [ 11.10% | 78.60% | 48.60% | 42.90% | 8.00% | 66.70% [ 78.90% | 25.00% | 55.60% | 60.00%
Mmery HcnuraHunu 3 8 2 6 2 4 20 13 2 4 1 1
nonoBuHa U |% cmopen 3Y | 12.00% [ 61.50% | 25.00% | 33.30% | 14.30% | 10.80% [ 57.10% [ 52.00% | 33.30% | 21.10% 5.60% | 6.70%
Mmefy efied u |McnuTaHuLu 2 5 1 1 6 5 1 1
ABa yaca % crnopes 3Y 15.40% 27.80% | 7.10% | 2.70% 24.00% 41.70% | 5.60% | 6.70%
BpeMe Ha ~
yeKahe 38 Mefy iBau  |McnutaHuuu 3 3 1 4 1
4yeTupu Jaca |% crnopen 3Y 16.70% 8.10% 4.00% 33.30% | 5.60%
V[CI'IV[TyBaH)e
J—— WcnutaHunu 1 9 1 3
% cnopen 3Y 5.60% 24.30% 4.00% 16.70%
J10 efHa Wcnuranunu 1 2 2 2
Hejena % cnopen 3Y 5.60% 8.00% 11.10% | 13.30%
JIO eJieH Wcnuranunu 1 1
Mecel| % cnopen 3Y 2.70% 6.70%
moBeKe off WcnutaHunu 1 1
eneH mecell | % cropes 3Y 2.70% 6.70%
. HcnutaHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
% cnopes 3Y | 100.00% |100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00 %
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Hema Hcnuranunu
OJITOBOP % cnopen 3Y
Io nonoBuHa |UcnuTaHUIU 3 1 1 3 1 2 15 3 3 2 5 2 1
gac % criopes 3Y 100.00% | 33.30% 100.00% 100.00% | 33.30% [100.00% [100.00% [100.00%]100.00% | 66.70% 100.00% | 100.00% | 100.00 %
Mery Hcnutanuuu 3 2 2 1
moJioBMHa M| % crnopes 3Y | 100.00% 66.70% 66.70% 33.30%
Mefy effeH 1 |McnuTaHuuu
JiBa yaca % cnopen 3Y
BpeMe Ha ”
werame 3a |METY ABa T UcnuraHunu 1 2
yetHpn yaca | % crnopes 3Y 100.00% 66.70%
HCIUTYBabe
R HUcnutanuuu 1 1 1
AR % criopes 3V 3330% 100.00% | 3330%
70 efHa UcnuraHunu 2
Hepena % cnopey 3Y 66.70%
710 eficH UcnuraHunm
Mecelr % cnopen 3Y
ToBeKe off HcnuraHunu
efieH mecel | % cnopen 3Y
BKVIIHO Wcnuranunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
Y % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00 %
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31paBcTBEHa yCTaHOBA
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SAAOBOTCTE THenra Wcnuranunmu 4
EB(;IJ[IHRT OATOBOP % cnopen 3Y [ 0.90%
wa yenyrara |[Ta Hcnuranunu 354 4 3 2 1 5 1 2 3 1 3 2 6 2 9 2 4 4 3 3
Hay Y % cnopes 3Y | 81.60% | 80.00% [100.00% [100.00%| 33.30% | 83.30% | 50.00% | 40.00% [100.00% [ 50.00% | 50.00% |100.00% |100.00% |100.00% [100.00% | 50.00% | 80.00% |100.00% | 60.00% |100.00%
MepmmEcK |He UcnuraHunu 76 1 2 1 1 3 1 3 2 1 2
e % cnopes 3Y | 17.50% | 20.00% 66.70% | 16.70% | 50.00% [ 60.00% 50.00% | 50.00% 50.00% | 20.00% 40.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 %
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SAROBOUICTE THeva Wcnuranunu
EB(;IJ[II/ITCT ORTOBOP % ciopea 3V
na yenyrata |[Ta Wcnuranunu 2 1 5 14 6 3 3 4 2 2 3 4
Hay 4 % cnopes 3Y [ 50.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% ] 100.00% | 57.10% [100.00% [100.00% | 100.00% | 100.00%
Wcnuranunu 2 3
MeauIuHCK |H
MR ° % criopea 3Y | 50.00% 42.90%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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STAOBOTCTE THema Wcnuranuiu 1
EB(;I;MTET OJIFOBOP % cnopen 3Y 5.60%
na yenyrata |[Ta Wcnuranunu 18 10 8 15 11 37 27 9 5 19 12 14 9
Hay Y % cnopeg 3Y | 72.00% | 76.90% [100.00% | 83.30% | 78.60% |100.00% | 77.10% | 36.00% | 83.30% |100.00% [100.00%| 77.80% | 60.00%
MemumHCK |He Wcnuranunu 7 3 2 3 8 16 1 4 6
o % cnopes 3Y | 28.00% | 23.10% 11.10% | 21.40% 22.90% | 64.00% | 16.70% 22.20% | 40.00%
BKVIHO Wcnuranunu 25 13 8 18 14 37 35 25 6 19 12 18 15
o % cnopeg 3Y | 100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00 %
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STAOBOTCTE THema HcnutaHunu 3
Esoan S OAIrOBOP % cnopen 3Y 100.00%
Ha HCH rara |fla WcnutaHunu 3 3 3 1 2 1 3 2 1 14 3 3 3 1 5 2 1
Hay ¥ % cnopes 3Y | 100.00% [100.00% [100.00%|100.00% | 66.70% |100.00% [100.00% | 66.70% | 50.00% | 93.30% [100.00% | 100.00% | 100.00% | 100.00% 100.00% | 100.00% | 100.00%
MemMIMHCK |He WcnutaHunu 1 1 1 1
o % cniopeg 3Y 33.30% 33.30% | 50.00% | 6.70%
BKyIHO HcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
4 % cnopeg 3Y | 100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 100.00% | 100.00% | 100.00% [ 100.00 % | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00%
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SAAOBOTCTE THenra Hcnuranunu 1
EB(;IJ[IHRT OATOBOP % cnopen 3Y [ 0.20%
wa yenyrara |[Ta Hcnuranunu 367 5 2 2 2 6 2 3 3 1 6 2 6 2 9 4 4 4 2
Hay Y % cnopes 3Y | 84.60% [100.00%| 66.70% [100.00%| 66.70% |100.00% |100.00% | 60.00% [100.00% [ 50.00% |100.00% | 100.00% | 100.00% |100.00% | 100.00% [100.00% | 80.00% |100.00% 66.70%
Hcnuranunu 66 1 1 2 1 1 5 1
MeauuuHcKa|H
NEPETM ¢ % cnopes 3Y | 15.20% 33.30% 33.30% 40.00% 50.00% 20.00% 100.00%] 33.30%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 %
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SAAOBOTCTE THenma Wcnuranunu
EB(;IJ[II/ITCT ORTOBOP % ciopea 3V
na yenyrata |[Ta HcnuraHunu 1 1 5 14 5 3 3 5 2 2 3 3
Hay 4 % cnopes 3Y [ 25.00% [100.00% [100.00% [100.00% | 83.30% |100.00%]100.00% | 71.40% [100.00% [100.00% [100.00%| 75.00%
MeumuHcKa| He Wcnuranunu 3 1 2 1
ra caprnn % cnopes 3Y [ 75.00% 16.70% 28.60% 25.00%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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STAOBOTCTE THema Wcnuranuiu 1
EB(;I;MTET ONroBOp % cnopen 3Y 5.60%
na yenyrata |[Ta Wcnuranunu 22 10 8 15 10 37 28 8 6 19 12 15 10
Hay Y % cnopesn 3Y | 88.00% | 76.90% [100.00% | 83.30% | 71.40% |100.00% | 80.00% | 32.00% [100.00% [100.00% [100.00% | 83.30% | 66.70%
MemummHckal He Wcnuranunu 3 3 2 4 7 17 3 5
o corTra % cnopex 3Y | 12.00% | 23.10% 11.10% | 28.60% 20.00% | 68.00% 16.70% | 33.30%
BKVIHO HcnuraHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
o % cnopes 3Y | 100.00% |100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % [ 100.00 % [ 100.00% | 100.00% | 100.00 % | 100.00 %
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STAOBOTCTE THema WcnutaHunu
Esoan wrer OJIFOBOP % cnopen 3Y
Ha HCH rara |fla WcnutaHunu 3 3 3 1 2 1 3 2 2 14 3 3 3 1 3 5 2 1
Hay ¥ % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 66.70% |100.00% ] 100.00% | 66.70% [100.00% | 93.30% |100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% | 100.00% | 100.00 %
MeumHCKa| He WcnutaHunu 1 1 1
o carna % cnopen 3Y 33.30% 33.30% 6.70%
BKyIHO HcnutaHunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
4 % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00 %
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3aJ{OBOJICTBO O] KBAJIMTET Ha YCIYyraTa Ha JOKTOPHUTE & 3]1paBCTBeHa ycTaHOBa

31paBcTBEHa yCTaHOBA
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3agoBoncts |Hema Hcnuranunu 1
0o OArOBOP % cnopen 3Y 0.20%
KBaJUTET Ia Wcnuranunu 396 5 3 2 3 5 2 3 3 2 6 2 6 2 9 2 4 4 5 3
Ha yciayrara % cnopes 3Y | 91.20% [100.00% [100.00% [100.00% |100.00% | 83.30% |100.00% | 60.00% {100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 50.00% | 80.00% |100.00% | 100.00% |100.00%
Ha He Wcnuranunu 37 1 2 2 1
JIOKTOpUTE % cnopen 3Y [ 8.50% 16.70% 40.00% 50.00% | 20.00%
BKVIIHO Wcnuranunu 434 5 3 2 3 6 2 5 3 2 6 2 6 2 9 4 5 4 5 3
o % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% [ 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00 % | 100.00% | 100.00 %
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3agoBoncTs |Hema Wcnuranunu
oof OATOBOP % cnopen 3Y
KBaJUTET Ia Wcnuranunu 2 1 5 14 6 3 3 5 2 2 3 4
Ha yciyrara % cnopes 3Y [ 50.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% ] 100.00% | 71.40% [100.00% [100.00% | 100.00% | 100.00%
Ha He Wcnuranunu 2 2
JIOKTOpUTE % cnopes 3Y [ 50.00% 28.60%
BKVIIHO WcnuraHuiu 4 1 5 14 6 3 3 7 2 2 3 4
o % cnopes 3Y | 100.00% [100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% [ 100.00% | 100.00% | 100.00 %
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3agososcrs |[Hema Wcnuranunu 1
oon OJrOBOp % crnopes 3Y 5.60%
KBaJIUTET Ia Wcnuranunu 24 12 8 17 10 37 34 10 6 19 12 17 12
Ha yciyrara % cnopen 3Y | 96.00% | 92.30% [100.00% | 94.40% | 71.40% |100.00% | 97.10% | 40.00% [100.00% [100.00% [100.00% | 94.40% | 80.00%
Ha He Wcnuranunu 1 1 4 1 15 1 3
JIOKTOpUTE % cnopen 3Y | 4.00% | 7.70% 28.60% 2.90% | 60.00% 5.60% | 20.00%
BKVIHO HcnuraHunu 25 13 8 18 14 37 35 25 6 19 12 18 15
o % cnopes 3Y | 100.00% |100.00% |100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % [ 100.00 % [ 100.00% | 100.00% | 100.00 % | 100.00 %
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3agoBoncts |[Hema Hcnuranunu
oon OJIrOBOP % cnopes 3Y
KBaJIUTET Ila HcnutaHunu 3 3 3 1 3 1 3 3 2 14 3 3 3 1 3 5 2 1
Ha yciyrara % cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00% [ 100.00% | 93.30% | 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00% | 100.00% | 100.00 %
Ha He Wcnuranunu 1
JAOKTOpHUTEC % cnopen 3Y 6.70%
Biymmo Wcnuranunu 3 3 3 1 3 1 3 3 2 15 3 3 3 1 3 5 2 1
% cnopes 3Y | 100.00% |100.00% [100.00% [100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % [ 100.00% | 100.00% | 100.00% | 100.00% | 100.00 % | 100.00 % | 100.00% | 100.00% | 100.00 %
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